GENERAL SCIENCE MOST IMPORTANT QUESTION set - 8

Q1. The condition produced by aerial oxidation of fats and oils in foods marked by
unpleasant smell and taste is called:

T 31 3R Ea1e ganT AT @iey yere # a87 3R At & gars 3iierdienor garT
3o FEUTA &l gl ST &

(a) antioxidation /TEr3TaHSe

(b) reduction /319«

(c) rancidity /fa'alg_cf ey

(d) corrosion /&IROT

The term used to indicate the development of unpleasant smell and taste in fat and oil
containing foods due to aerial oxidation is rancidity.
The process of oxidizing fatty and oily substances is called as rancidity.

gaTs JHTFHIRUT & SHRUT TET IR el Jefel T Tt 7 3T 37er iR Fre; o faehre b
g 3= & foIw seaaTe foram Siey arelr e ST B
THRGF 3R el gerf & JHieFdIenoT & FishaT i ST el ST g |

Q2. Name the products formed when iron filings are heated with dilute hydrochloric acid

QIE o STC T o] BTSSIFalNeh 37FeT oh HIY ITH el W Fefol dTel 3cTal & oATH e
(a) Fe (1) chloride and water /Fe (lll) WIBE}T\TW

(b) Fe (1) chloride and water /Fe (ajﬁ?ﬂtr) FARISS 3R T

(c) Fe (I1) chloride and hydrogen gas /Fe (Il) Wﬁ?@g@ﬁ'ﬂm

(d) Fe (I11) chloride and hydrogen gas /Fe (1ll) FARTSS 3-ﬁT6I$§\Io1rI IR

When dilute hydrochloric acid reacts with iron filings, iron chloride or ferrous(ll) chloride is
formed and hydrogen gas is liberated. The reaction involved is:

TS o] BTS3IeFoll e 31l Ailg o sTe & 37T THAT T § A AT FeiNIss o1 e (1)
FARTSS Fo1cTT & 3R gT83IoTeT 3T el & | Qe wfafhar g:

Fe(s)+2HCl(aq)—>FeClx(aq)+H2(g)

Q3. When green coloured ferrous sulphate crystals are heated, the colour of the crystal
changes because

9 gY 19T & BT othe fohEcel ol a3 ToRaT ATAT &, aY fohEe ol &7 {1 Seof SITdT § it
(a) it is decomposed to ferric oxide /ﬂgmmﬂ%ﬂﬁﬁm%

(b) it loses water of crystallisation /ugﬁ:&aéﬁmasrcrr&ﬁ@é’m%

(c) it forms SO, /IE SO, TATAT &

(d) it forms SO3 / TG SO T=ATAT &

Color of Ferrous sulfate crystal
Ferrous sulfate crystal contains water of crystallization.
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The color of Ferrous sulfate crystals is light green.

Color after heating

Ferrous sulfate crystals lose water molecules when heated.

As a result of the formation of anhydrous Ferrous sulfate, the color changes from light
green to white.

hid Tothe Tohecel T a7

BT Tothe foheed H fohTcellhioT T U=l 81T & |

e Hothe TohEcel &l {7 godhl g alar g

ITH Tt o &1G, T

B Hethe foheeel a1 glat TR UTell & AU TN e &

foroTer T Tothe & el o TRUTFHTIRY, LT gooh gY U T, H 960l ST ¢ |

Q4. Which one of the following salts does not contain water of crystallisation?
AefaT@d & O forg ofauT 7 TohTeoliehioT &l STol AgT aldT 672
(a) Blue vitriol /=] fafezrer

(b) Baking soda /afehaT @rer

(c) Washing soda /anfRraT Jrsr

(d) Gypsum /faea#

Sol-

The chemical formula of the given chemical compounds are:
Baking soda: NaHCO3

Blue vitriol: CuSO4 .5H,0

e Washing soda: Na,C0O3.10H,0

e Gypsum: CaS04.2H,0
So, baking soda does not contain water of crystallization.

feT 3w e A & TaafEs g7 8
e SfHaT AIET: NaHCOo;
o aiterm fafeTrer: cuso, .5H,0
o QAT AYST: Na,C03.10H,0
o [STHHA: Cas04.2H,0
ar, SfaT BYST 3 e oenoT T ITell 78T glar &

Q5. How many water molecules does hydrated calcium sulphate contain?

B153CS hicRIH Hethe H fohclel ITell o 3T 8l &2

()5

(b) 10

(c)7

(d) 2

Chemical formula of hydrated calcium sulphate or gypsum is CaS04.2H,0

gIS3CS hieRTH Hothe IT ToToHH T T TeIeh FF CaS04.2H,0 &
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Q6. Who discovered nucleus of an atom?
TIATY] & AT HT Tiol fohdfer H1?2?
a) E. Goldstein /Z3MeaTereT
b) J.J. Thomson /AUTHTA
c) Ernest Rutherford /31ef¥eieIhis
d) J. Chadwick / siisfas

Electron was discovered by J. J. Thomson in 1897 when he was studying the
properties of cathode ray.

golerelel I Tl of of UIHA o 1897 H &l AT T g HhUls fhvileh Ui T ITEATA FX
® A

Q7. Identify Aand B

T 3R &  ugEeT
CrO;3in A
CH3COOH
CH3CH,OH Oxidation
Ethanol
Alkaline B
KMnOy4

(a) CH;CHO, CH;COOH
Ethanal, Ethanoic acid
(b) CH,COOH, CH,CHO
Ethanoic acid Ethanal
(¢) CH;CHO, CO, + H,O
Ethanal
(d) CH;COOH, CO, + H,O
Ethanoic acid
Sol- A

Q8. The opening and closing of the stomatal pore depends upon

81 & g &1 Gotot 31N 5 g1t R e &

(a) oxygen /3Tt

(b) temperature / AT9HTT

(c) water in guard cells /T&Tah HITARTIT H TTeiT

(d) concentration of CO; in stomata /I8 & CO, &I ATgdl

e The opening and closing of stomata depend on the turgor pressure, caused by the
osmotic flow of water in the guard cells. When the guard cells are turgid, they
expand resulting in the opening of stomata.
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o T T GoreT 3R de g1eT, TgIER HIRAAI3M 3 areht & ITHATH Farg & HROT gl
aTel GalTe IX fol 31X Tl § | ST T&Teh hITRIehTT FET Blcll o, ot o thelcll § fordeh
ARUTTEAETET 18 Gl ST & |

Q9. Which part of alimentary canal receives bile from the liver?
HTGR FTeT T it HT AT Tehel I T TTCT T 67

(a) Stomach /9

(b) Small intestine /&YEr 31T
(c) Large intestine / CEIRIIG
(d) Oesophagus /TAhITT

e The small intestine receives bile from your liver. This bile is later stored within the
gallbladder which executes two different functions — making food alkaline and
breaking down its fats content.

o BIET AT T ollaX H [T UTed hicl & | T8 O o1, 7 Toarery v Jelt 7 AT &t
SITT § ST &1 37eT3T-37e19T AT Sl 3TSITH ST § - HISTeT T &I FATT 3R sThT
T QTHAT FT ATST|

Q10. Which part of nephron allows the selective reabsorption of useful substances like
glucose, amino acids, salts and water into the blood capillaries?

SAShloT 2T st HT HTIT Tehcl H AT H Tofehlat, A TS, oraor R arelt o1 39l
Tt o TeATCHeb YoT: 3TTRIYOT T ITATT ST g?

(a) Tubule /egser

(b) Glomerulus /TATHATIHT

(c) Bowman’s capsule /WW

(d) Ureter / T

e In nephron, the selective reabsorption occurs in the proximal convoluted tubule
(PCT). It is highly permeable.

o S &, TLeATcHD JANTNTOT FHITEY FATGER ATolehT (FHIE) H AT | Ig
eI IRIFT B |

Q11. Food gets cooked faster in a pressure cooker because/ 92X G H @1 Soc)
qeh SITdT § FiTh-
a) Water starts boiling at a lower temperature due to high pressure/ 3T &aTd &

HRUT UTAT v dTIHTT U 3delel ofdTdT §
b) Water starts boiling at a higher temperature due to high pressure/ 3T ga1d &

HIROT ITeAT 37T ATIHTA IR 3aclel oI9TcT &
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c) Water boils only at 100°C but the heatcontent is higher at high pressure/ 9Tt
shddl 100 f33f AfcHTH 9T IcldT § oifehe] 3T gaTd WX ITAHT hr AT 31T gicdl
]

d) Convection currents are set inside the cooker/ e & 3eX HagsT TRV daT g
ST &

Boiling point of water increases with increase in pressure.Because of increase in
boiling point heat provided to cooker is utilized to increase its temperature.

eTd H Jefe & HIY YTl T FIYUATh TGl & | FaUeiieh foig H gefer & HROT Fh HT
YGTeT hT 315 ITHT ST YT Wil oh ATTHTST I TGTel oh [T [hAT AT B

Q12. When a few drops of iodine solution are added to rice water, the solution turns blue-
black in colour. This indicates that rice water contains:

SIS TS & YTeil 7 TSI & ©lel ST FS §; STell ST &, cY Bel aiTel-ahlel 3T I gl ST
g1 I8 Mg sTar g o arae & gl & Ao &

(a) fats /a&T

(b) complex proteins [T Qe

(c) starch /&Y

(d) simple proteins /ATl ATl

e When iodine solution were added to rice water, the solution turned blue black
because of the presence of starch.

e When iodine comes in contact with starch, it forms starch lodide complex because
iodine gets stuck in the beta coils in the structure of amylose of starch.

e The starch iodide complex gives blue-black colour.

o SIS AT F UTAT I TANENA T EYel STelT ITT, AT TTT T 3T & HROT Gie
eIl ShIelT g 73|

o IIF TS TR & HUeh H TAT§, Y Tg TSI 3TATSISS FiFColard TATT &
FTTeh TSI T h THTS IS Sl TXIAT H 1T hisel 7 vl SATAT & |

o T ITAISTSS hiFColerd HTelT-ehlell T T & |

Q13. Which of the following events in the mouth cavity will be affected if salivary amylase is
lacking in the saliva?

I AR 3 AR CHTSAST Y ol g g [T o AT 3 & HleT i wreaT e
grefr?

(a) Starch breaking down into sugars. /Fcfl'?ff QI’E(FTFﬁE}\'ETET%I

(b) Proteins breaking down into amino acids. /Eﬂﬁﬁmﬂ'@_s’ﬁé_dm%l

(c) Absorption of vitamins /TaeTf&eT &1 31aeiyoT
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(d) Fats breaking down into fatty acids and glycerol /awt}ﬁvﬁgaﬂ?mﬁaﬁg:m%

If salivary amylase is lacking in the saliva, starch breaks down into sugar events in the mouth
cavity will be affected.

& SR A o} TATS oISl hT T Bl &, Tl TT<l e o 6T H AT h TeaT13HT H g el
gl

Q14. A feature of reproduction that is common to Amoeba, Yeast and Spirogyra is that

ToTeTe] ST Teh [FAYAT ST 313HTET, Fee 3R AT H ATAT 6, 98 6

(a) they reproduce asexually [FSTeTeT bl Ueh TaQINdT ST 37HTeT, W&ﬁ?@l’gﬂ?@ﬁ
AT &, TE &

(b) they are all unicellular / ¥ T3 ThpIFARTT &

(c) they reproduce only sexually /3 Fael TieT Folelel A &

(d) they are all multiceIIuIar/aHﬁ-‘l’fE|§T=I§I'f9\7lﬁ'<’3r%F

Mainly all living organisms reproduce by different means. Non-living organisms cannot
reproduce or replicate themselves.
e Reproduction refers to the production of young ones possessing features more or
less similar to those of parents.
e Many living organisms like mules, sterile worker bees, infertile humans do not
reproduce, still are living organisms.
e Organisms reproduce by sexual as well as asexual means.
e Fungi multiply and spread easily due to millions of asexual spores. Yeast and Hydra
reproduce by budding (asexual reproduction).
e Planaria (flatworms) show true regeneration, that is, a fragmented organism
regenerates the lost part of the body and becomes a new organism.
e Fungi reproduce by fragmentation. In unicellular organisms like bacteria, unicellular
algae, or Amoeba, reproduction is similar to growth, i.e., an increase in the number
of cells.

o HTTTI Y T SNTAT SN ITTIT-370T T H Fofeled hid & | fAiia Sita T ot
qeT: 3ot AT SIGNT A6 Hhel & |

o STofel & AU ATAT-FAAT & HAT AT HANIL HATH T[0T aTel JaT3il & culeet §
&1 &S ST Sid oI TeeR, STt A AT AYATFET, 5T HJST Tolelel A8l hld o,

fh sy Shfaa ST &1
o Sha olfaren 3 3relifTen STt olieht & ToTetel il § | STl 3Tl faTeh dISTror3it &
hRUT hereh 01T 3R AT & HhefeT g |

o THR 3R ETEIT AGICA (3T TaTeh ToTeTeT) GART ToTelel I & | Tl AT (Folcad)
FE IS W 8, JTelt veh WS St e & W g By i g Sedeet ket
¢ 3R e T Sha s SITaT 1
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o FHdh [qWSH GART YsTelel T & | SFEITRAT, Theh! TR AdTel IT IHET S
Tehen! fRIhI Sfal H, ToTelel e i€l o HHTA glcll &, ATall I A1 hr T&aT &
o

Q15. The angle of incidence for a ray of light having zero reflection angle is

Q[+ TRTEIcleT 10T ATell FehTRT T ThT0T & foTT 31T9ce hioT

(a)o

(b) 30°

(c) 45°

(d) 90°

e When the light ray is incident normally on a plane mirror then by using laws of

reflection angle of incidence is equal to angle of reflection. Hence, as the angle of
incidence is zero degree angle of reflection is zero degree.

o SIS UL FT f0T AT SUUT IR HTATT &Y H 9T &Il § dl IRradel &
ToraAT T 3TITIT ek 3TIAT PIVT IRl IUT o ST BIT & | 3c: 3T HIoT
e T3l 8ot & SHRUT RIaclel 10T =y S gl g |

Q16. Food cans are coated with tin but not with zinc because
@ % fess 9T 1o 31 T Srar ® i fSieh & =12, ifh
A. zinc is costlier than tin /&7 &t AL T fSfer mEm
B. zinc has a higher melting point than tin et qeT T fSfeh a1 TTeriens fers BT
C. zinc is more reactive than tin /f&7 &t RSEL T ST AT Uiefshameiict @
D. tin is more reactive than zinc /fo=1 fSia &t qaT T feres gldfsramsiiar &
Sol-
Food cans are coated with tin instead of zinc because zinc is more reactive than tin. Tin is

only reactive to powerful acids such as tri-sodium phosphate, while zinc is reactive

towards acids.

G o fessl qt fSieh i siTe 1o st i foram sttt & ariifen fSieh o1 st g o aferes
gfafsrasiiet grar 21 fo Fhaet wiframet ufire & 2rE-Hifgsm wiehe o fog yfafsramiie 2,
Staifer e uftre & ufa gfafsmamefia R)

Q17. When ice cubes are made, the entropy of water
ST S o e ST ST &, I I T TrgTdt

A. does not change

B. decreases

C. increases

D. may either increase or decrease depending on the process used
Sol-
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The entropy function given us a numerical measure of the irreversibility of a given process
i.e., it is a measure of disorder of a system. During formation of ice cubes orderedness

increases, i.e., disorderness decreases, hence entropy decreases.

T} therer A g foreft faw T wfska <t stufardierar =1 v Hemerss urg o @ srrfq, ae v
STOTTAT o T/ 2T Uk 3T 81 3% o ZohS! o T oh A1 5hH § i BIdT €, 37T, STereeer
& ST ?, FHTeTT Tt 512 SATeft 2

Q18. The ability of eye lens to adjust its focal length to form a sharp image of the object at
varying distances on the retina is called

AT 9T 37eT9T-3119T G TR E T Teh ol SIS TelTed oh T 39T Blehel ofells I
AT Fat oh [oIT o1 oI ohl &THT I gl STl &

(a) Power of observation of the eye /3-]']'@3?313@3»7[@ HIES]

(b) Power of adjustment of the eye /3T & THTAISTA &I AfFd

(c) Power of accommodation of the eye /ma;maﬁr SIEG

(d) Power of enabling of the eye /3T &I &TH Tl T ATFT

The ability of the eye lens to adjust its focal length is called power of accommodation. This is
done by the ciliary muscles by changing the focal length of eye lens.

A ol AT 379 Brerd g ! HATAST et hY &THAT i JTary T AT gl ST B |
TG 31TE o oI I Blhol dlaTg Pl el ATl AT garT fohar STar g |

Q19. Myopia and hypermetropia can be corrected by

ATANTIT 3R FTERACITUAT T fohdsh gaRT &1eh fohdalT AT Tl ©

(a) Concave and plano-convex lens /3Tddel IR FATT-3aa o

(b) Concave and convex lens /3Tdddl I 3T o

(c) Convex and concave lens /39l 3R 3add o

(d) Plano-concave lens for both defects. /2T a1NT & foIT A de 3/add o g |

Both myopia (short-sightedness) and hypermetropia (far-sightedness) are common eye
conditions that occur when light does not focus on the retina properly. Both conditions are
easily corrected using prescription glasses or contact lenses or, in mild cases, by laser eye
surgery.

AT (3eTe o) 3N FISURACITIAT (GIETSE) Gl &1 AIAE A [EATAAT g ST e grelr
& ST ganter IeAT U Sk & €T higd del hidl & | NTEHTI 7o AT Hhiecae o T
3TN Xk AT gooh ATHA H, ool 17 e [RAfehcar garT alat RUfadt I 3mari &

S TR STaT B
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Q20. Two resistors are connected in series gives an equivalent resistance of 10 Q. When
connected in parallel, gives 2.4 Q. Then the individual resistance are

a’rl;ﬁi’r%ﬂivﬂamﬁ@?g@%\?ﬁ 100 T Jod TIANY T & | FATAR H Fhalee gl R,

2.4 EATE| IS STTFAITT TTARTer §
(a) Eachof 5Q
(b)6Qand4Q
(c)7Qand4Q
(d)8Qand2Q

In series, Rs=R1+R2=100Q

1 1 I 1 10 5
[n parallel, = $————— =
» , R, 24 24 12

Q21. Which vitamins are those if taken in excess can be dangerous as they are stored in the
body?
I 9 g ferfim @ 5= afe stferes aen 4 formn STe at 3 wawes 2 gehd @ ifer o IR H ST
Bld &7
A. B Complex
B. Eand C
C. Band C
D. Aand D

Sol-
Taking higher than recommended doses of some vitamins may cause health problems. Such
as: Vitamins A, D, E and K are fat soluble, which means they are stored in the body and if
taken in high doses can be toxic.
o [Tt st SRR Ge o 37 o 8 TaTeed SHeTd 8 gehd! ol S e g, &, 3
3T o o8 H SR &, Foresht 372l & fo of S o S 81 St © AR afe 3=+ g o form Simg
1 I foTh 81 Tkt 2

Q22. 100 J of heat is produced each second in a 4Q resistor. The potential difference across
the resistor will be:

4Q AV H TcAeh ehs H 100 J FAT 3cUsoT Bl & | UshedaTell 31T H GHTTIT 37T g19:
(a)30V
(b) 10 V
(c) 20V
(d) 25V
Sol-
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The produced heat is given as,

H =I-Rt

100 =1 x4 ~ ]

I=25A

The potential difference is given as,
V =IR

=54

=20V

Thus, the potential difference across the resistoris 20 V.

Q23. Inside the magnet, the field lines moves
< & 31T, & YT o &

(a) from north to south /3AX & &f&I0T deh
(b) from south the north / &T&I0T & 30X

(c) away from south pole / a‘fﬁUﬁ’E{q’ﬂi‘g

(d) away from north pole / miga@reg

Sol-
Magnetic field lines appear to move from the South pole towards the North pole inside a
magnet.

e 35 37 SRR 81 T 2RO g e g T 3 N g e g &

Q24. Different sources are used in India to meet the energy requirement. Depending on the
consumption of energy from different sources, select the correct answer from the code given
below in descending order:

St T HATTTIHAT bl G FLA o T wied 7 fofsr= diat st SwiwT fora sirar 81 fafv= &t &
STl Sl EU o ATYR 9T, et fou 71U hie & et ST ol =9 oh:

A. Coal > Water > Petroleum and Natural Gas > Nuclear energy

B. Coal > Petroleum and Natural Gas > Water > Nuclear energy
C. Coal > Petroleum and Natural Gas > Nuclear energy > Water
D. Coal > Nuclear energy > Water > Petroleum and Natural Gas

Q25. Decrease in force of attraction between valence electrons and nucleus by inner
electrons is called

HIAR SAFLHT SR A FeAFLAT S AT o i<t SR o oIt H HHT Rl T Hgl Sl
87
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A. Screening effect/ ShRITHT T9TE

B. Shielding effect/ TRT&I I41a

C. Photoelectric effect/ W%@Dﬁm

D. Dopler effect/ STAet IHIS
Sol-
The decrease in the force of attraction exerted by the nucleus on the valence electrons due
to the presence of electrons in the inner shells is called screening effect or shielding effect.
JATATR RIT H SAFSHT bl Uk o SHROT AT1S7eR ST GAISThdT Soide1 UL o7 el SATeRST
I § Y Rl TR0 TTe AT TRREAT TTE R ST 2

e the shielding effect is the attraction between an electron and the nucleus in an atom
with more than one electron. It's also known as atomic shielding or electron shielding.

e The shielding effect is the repulsion of valence electrons that counteracts the attraction
between these electrons and the nucleus.

e The shielding effect increases when elements move down the group in the periodic
table.

e The effective nuclear charge (Zeff) is the charge an electron "feels" when it is being
shielded. Zeff increases as you move across the periodic table

e The shielding effect is also known as the screening effect.

o URIETUT GoTT Ush § Wb Foloclel dlel WA H Teh goldeld 3R AMHb &
ST 1 YT B S8 TRATY] IRIETUT AT Soleelel IRIETOT & &7 H o S
ST g

o URIEUT YHIT Joid Soldciall ol ITdhyUT § ST 3o Selaelal 3R AfAe & &
3MHYOT T GfAHR HT &1 JS ded N RN 7 FHAg & A o € ar
qRIETOT JHTT §¢ AT gl

o JHTE YA HIALY (JAH) I8 AU § T Teh Soloreled "HggH" el § oI
39 9fRf&a fohar ST QT 81T g1 S-5id 39 3Tdd ARON # 316 d96d & oAb
ST ST &

o TRTETOT gHTT I THifAT g & &9 & Y Jer Far &
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